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This is an ANONYMOUS, NON-BINDING survey designed to gf'!t your initial reaction~ to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results ' will. be. us:ed (0 focus subsequent disc'-ussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impre~sion as "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES'6 and NO 4." 

Decision Tree Questions 

Question YES NO Comments 

1A. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

lB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

3. What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

4. What type of overall road improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

SA. 

5B. 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 
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YES .NO 

o 1'0 
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YES No, .. 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 0 I D 

Access Page 27 

• New 4-lane supplemental bridge for LRT, 
C-~ HOV, and Hayden Island Access ..) ...J 

Page 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 

o 16 
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Transportation and Trade 

,.1.' ;:;;' Partnership 
5B. Tf yes, what type(s) of dver" crossing best YES N 
cont. satisfy the Problem, Vision al1d Values 

Statement? 

6A. 

6B. 

7A. 

8. 

• New supplemental 6-lane bridge with 
joint-use LRT Page33 ~ £? 

• New I O-Iane rep lacement bridge Page 34 

• New 10-lane replacement bridge with 
separate LRT bridge Page 36 0 

• New I O-Iane replacement bridge with 
joint-use LRT Page 37 0 (0 , 

• New supplemental tunnel concept 
Page 38 

Will policy actions such as hind use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

If NO, should they be considered in 
combination with other improvements? 

Which of the problem spot improvements 
do we need to satisfy the Problem, Visiori and 

YES · NO 

Values Statement? 
• W~Cli I 3 16 ~ latre5 between the 

Bridge and 1-84 (Rose Quarter Area) 
12 

• Widen 1-5 to 3 lanes between Delta Park 
'and Lombard 

11 
• Add on and off ramps at Columbia Blvd. f) 

Page 23 i5 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno r\ 

new river crossing is selected) J 
24 

• Modify I-5 interchanges in Vancouver 
between SR 14 and SR 500 

P 25 
• Northbound HOV in Clark County 

Page 26. 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? P 8-12 ID 

9, Assuming the Final St~ategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Example.s - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25,20, 10, 5 "with "0 "for the rest.): 

~D Land use policy changes Three lanes 

West Arterial Four lanes 

Commuter Rai l ..20- River crossing 

LD Express bus LO Spot improvements 
' ~ , 

~s= Light rail Il- Transportation demand management 

10. Additional comments on your impressions and this process: 

2 
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INITIAL IMPRESSIONS' SURVEY 
9/25/01 

~ " 

This is an ANONYMOUS, NON-BINDING survey designed to get your'initial reactions 'to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The r~sults will bf! used to focus subsequent discussions, present the evaluation [actors in 
a concise manner, and track our progress toward consensus. ,Thank Y9U, " " , ' 

• , L • 

For each Decision Tree question, you have 10 points to allocate between the choices. , E~AMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES:I0 'and NO; 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note ,"YES 6 and NO 4." 

Decision Tree Questions 

lA. 

1B. 

2A. 

2B. 

3. 

Question 

Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

If NO, should it be considered in 
combination with other, improvements? 

Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

If NO, should it be c~nsidered in 
combination with other improvements? 

What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

I' : 

" 

, . 

YES NO Comments 
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o 0 

YES NO ' 

~",~ 
f. "' ,;.-

4. What type of overall road improvements YES ' NO 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

SA. Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

5B. If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 

Access Page 27 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access 

Page 28 

• New supplemental bridge for LRT only 
Page 29 ' 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate'LRT bridge Page 32 

YES NO 

I;' • '. 

, , 



Transportation and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best YES , , NO 
cont. satisfy the Problem, Vision and Values 

Statement? . 

• New supplemental 6-lane bridge with 'c I~ 
joint-use LRT Page 33 I -; 

• New la-lane replacement bridge Page 34 

" t 
• New la-lane replacement bridge with 

separate LRT bridge Page 36 1" 

• New 1 a-lane replacement bridge with 
. joint-use LRT Page 37 \ 0 o 

• New supplemental tunnel concept 
Page 38 (J... I b 

6A. Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

6B . If NO, should they be considered in 
combination with other improvements? 

7 A. Which of the problem spot improvements 
do we need to satisfy the Problem, Visioh and 
Values Statement? 

• Widen- I 5 to 3 lanes between the Fremont 
~'\?'Y~Bridge and 1-84 (Rose Quarter Area) 

\.,A.£ ... sS~ 12 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard ' 
11 

• Add on and off ramps at Columbia Blvd. 
Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no 

new river crossing is selected) 
24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 500 

P 25 

ft ~ 
/0' 0 

' !? . ~ 

1 ·3 

• Northbound HOY in Clark County 
Page26 /0' 0 

8. Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? P 8-12 o to 
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9. Assuming the Final Strategic Plan will include some ot all of the (ollowing, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the over'all approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute'equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should ,include 5 elements contributing a different value, you might score "40, 
25, 20, 10, 5" with "0 "for the rest.): " ' 

! 

0 Land use policy changes 10 ' Three lanes 

D West Arterial 10 Four lanes ./ 

& Commuter Rail ?;() River crossing 

D Express bus J.-~ Spot improvements 

dl[) Light rail 1v Transportation demand management 

10. Additional comments on your impressions and this process: 

2 
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Transportation and Trade 

Partnership · 

INITIAL IMPRESSIONS SURVEY 
9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to g~'t your'initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to fo.cus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. . . ' . 

___ O....W\O~~ . 

For each Decision Tree question, you have 10 points to allocate~h~ ~hoices . EXAMPLES : If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0." If you ~re uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and 'NO 4." ', .. 

Decision Tree Questions 

Question YES NO Comments 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

lB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

b 

,0 ,.. \ 

3. What type of overall transit improvements YES . NO 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

4. What type of overall road improvements YES NO 
best satisfies the Problem, Vision and Values 

5A. 

5B. 

Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

\.ID~ 

.YES 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hqyden Island 2-

'Access Page 27 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access ,/0 

Page 28 

• New supplemental bridge for LRT only 

'0 

NO -

' 8 
\ .. 

,0 

Page 29 3 7, \. 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 

o. 
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Transportation and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-lane bridge with , 

YES NO 

joint-use LRT Page 33 ~ t; 
-, 

• New la-lane replacement bridge Page 34 

T.) (,.0 

• New la-lane replacement bridge with 
separate LRT bridge Page 36 '3 .7 

• New la-lane replacement bridge with 
joint-use LRT Page 37 

'"\ . 
I\L~; ; I(K)($ tt70 ~ w't~~ LRl cJol'·~tJ to 

~ : /r~ h -~/)e (lOJlc t-r,,{'(l u 

6A. 

6B. 

• New supplemental tunnel concept · 
Page 38 II 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

lfNO, should they be considered in 
combination with other improvements? 

'10 0 

7A. Which of the problem spot improvements YES NO 
do we need to satisfy 'the Problem, Vision and _ 
Values Statement? 

-;0 '0 , ~ .,c.:p''Pnr~v '(I +t,o ';yA ~ 
ve., '( , et-4-:1vac....l~ V c. . 

~ IJ.\ ~ 011\ \ d c\ 0 ~Y\ OV-Q. -\-~ V\ ct \1\ l'-t \---'t .... , e ~ ) '( 
C\\Q'Ae . 

• Widen 1-5 to 3 lanes between the Fremont 
Bridge and 1-84 (Rose Quarter Area) \7 

12 

e~ ,'rf. (~ 'h" b -e (OOl'ef; N( ( <""eft w,..( i-. ~. fl,j../ ().( 

~ , cI ~hJlo~:J 0","" r eI&'DV', I'j I '('e-u.! 'f! ,,[ E~JL.c;d'e 1>.$ 

8. 

• 

• 

Widen 1-5 to 3 lanes between Delta Park 
and Lombard .... /0 , 

11 
Add on and off ramps at Columbia Blvd . 

Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no 

new river crossing is selected) 
24 , 

• Modify 1-5 interchanges in Vartcouver 
between SR 14 and SR 500 

25 

o 

,0 

2. 

• Northbound HOV in Clark County ./ 
Page 26 10 0 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

o 

9. Assuming the Final Strategic Plan will include some or all or'the following, al,locate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution. assign "0" points. If you believe the plan should inClude 5 elements contributing a different value, you might score "40, 
25.20,10, 5"with "0 "for the rest.) : 

fS' Land use policy changes ", 0 Three lanes 

IS" West Arterial - P ~~A 0 Four lanes 

S- Commuter Rail 20 River crossing 1 , -, 

II) Express bus .\- \.-pv .5 Spot improvements 

.}I9 Q 

2-0 Light rail ~ 
go 

/D Transportation demand management 

10. Additional comments on your impressions and this process : 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY · 
9125/01 

. '. 
This is an ANONYMOUS, NON-BINDING survey designed to ge,t your initial rea~tions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you.. . . 

For each Decision Tree question, you have 10 points to allocate betWeen the choices, EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression a~ "YES: 10 and,NO: 0." J[you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." 

Decision Tree Questions 

Question YES NO Comments 

IA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

. Ad,AiVlI\ r\t-v-) YO()..d ~o..~ty \5 V'lot a loV)~--t-e.yY)t) 
0 ' . /.0 $~i~-ry'~, t-\(}US 1 ~ .e.. . ~\j\'(oV< 'mmtDJ IVY) Po.o-s. 

IB. If NO, should it be considered in 
combination with other improvements? 0 In 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 3 
Page 16 

7 
2B. If NO, should it be considered in 

combination with other improvements? " I' 
Vt.,,-<"~ 'o~'i?e,> ~\X'(\ f'.tR ·In) r-D-U 15 ~ 

~--~~~~-=~~~~~~~~~~~~r---~~--

3. What type ofdverall transit improv YES NO .. 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

s 
• Light Rail 

.\ 
4. What type of overall road improvements YES NO 

best satisfies the Problem, Vision and Values 

SA. 

Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

5B. If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

5 5 

o 10 

ID ·0 
'YES NO 

• New 4-lane supplemental bridge for 0 
express bus, HOV, and Hayden Island 1· 1 I 

Access Page 27 

. i ~:..~- ~ 

\ ~6~'-t Stt.. ,he>w, \JJ~ RcUJ WDU,~d. ~{"t.l)..~ . 

~ -\-(CXTh c) ~\Vlx\ . ~U~~'n"1J \oriliev--, of ~ 
;D.U, , \'~Sl ~ rt \oc..o..';;O'A (:')f pcpu\o.-t\1N\ \'" O.J\tJ>" 

R~\~tf . V\~-t o.-d(\~ti Su.f>p 1·~-\'oJ, · 
S~~\~o..\ h O~ IN\\y if be'::>+ v.:o.., <fn QC.t.oVY\M 

• New 4-lane supplemental bridge for LRT, (') \ \ 
HOV, and Hayden Island Access \ -, ~I' 

Page 28 if SI8hfA 
1------I-----------------------------=~__1I__--_l_----t_-=---~:-------:-, --------:-, -----------------------------j (lth('( {~;Sf 

• NewsupplementalbridgeforLRTonly .\J ' OK, i, this\S bt'st 1..)J(l1 ~b ()J:~. toVV\~d~ Lt<.l 
Page 29 () c:< 

• Supplemental 6-lane bridge Page 30 

• New supplemental, 6-lane bridge with 
separate LRT bridge Page 32 . () 

, , U)~y' ~ OV'\~s .7 £~~SS! 
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Transportation and Trade 

Partnership 
58. If yes, what type(s) of river' crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

YES NO 

• New supplemental 6-lane bridge with · 
joint-use LRT Page 33 S ~ . 

6A. 

6B. 

• New l a-lane replacement bridge Page 34 

• New la-lane replacement bridge with 
separate LRT bridge Page 36 

• New la-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tunnel concept 
Page 38 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

IfNO, should they be considered in 
combination with other improvements? 

7 A. Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
V 

• Fremont 
Bridge and 1-84 (Rose Quarter Area) 

12 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard 
11 

• Add on and off ramps at Columbia Blvd. 
Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno 

new river crossing is selected) 
24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 500 

25 

5 

7 

3 

• Northbound HOV in Clark County 
Page 26 \ b 

8. Will doing nothing more than baseline 
satisfy the Probletn, Vision and Values 
Statement? 8-12 

5 

8 
3 

() 

. ~ 
~" 

7 

lo 

o 

\·f bw\ 
6f D), W\'o1V\ 

\ ~\"\'+ \t'f\b w "'hat '1'h1S '\$ (to.!iy '(\tU.S30-X'j . 
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9. Assuming the Final Strategic Plan v,rill include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition ' oCthe overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the pian should include 5 elements contributing a different value, you might score "40, 
25.20.10,5 " with "0 "/or the rest.): 

OlO Land use policy changes c;:z Three lanes 
, 

a West Arterial 0 Four lanes 

0 Commuter Rail 10 River crossing 

5 Express bus ,3 Spot improvements 

50 Light rail to Transportation demand management 

J O. Additional comments on your impressions and this process: 

2 
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Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
. 9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The re$ults will be used. to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 ' ~nd N04." , .' 

Decision Tree Questions 

Question YES NO Comments 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

lB. 

2A. 

2B. 

3. 

If NO, should it be considered in 
combination with other improvements? 

Will Commuter Rail l by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

If NO, should it be considered in 
combination with other improvements? 

What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

3 

YES NO 

I . 

,E :5 

() 

4. What type of overall road improvements YES NO . 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

5A. Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? ,g ' z.. 

5B. If yes, what type(s) of river crossing best Y~S NO. 
satisfy the Problem, Vision and Values 
Statement? 

• 

• New 4-lane supplemental bridge for 
express bus, BOV, and Hayden Island 

Access Page 27 

New 4-lane supplementa~ bridge for LRT, 
HOV, and Hayden Island A~cess 

Page 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 

. ~ t, 
1 · 3 
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Transportation and Trade 
;, Partnership 

58. If yes, what type(s) of river crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

6A 

6B. 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 

• New 1 O-lane replacement bridge Page 34 

• New 10-lane replacement bridge with 
separate LRT bridge Page 36 

• New 10-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tunnel concept 
Page 38 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

If NO, should they be considered in 
combination with other improvements? 

YES NO 

2 , 8 

/0 

,7 3 
7 A Which of the problem spot improvements YES NO ' 

8. 

do we need to satisfy the Problem, Vision and 
Values 

• W!Uen-t+tf)-++ftl'tl~ between the Fremont 
Bridge and 1-84 (Rose Quarter Area) 

12 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard 
11 

• Add on and off ramps at Columbia Blvd. 
Page 23 

/0 o 

/0 o 

1 .3 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno 

new river crossing is seleCted) " .3 I 7 ' 
. 24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 500 

P 25 
• NOIthbound HOV in Clark County 

Page 26 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

I . 
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9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25, 20, 10, 5" with "0" for the rest.): , 

15 Land use policy changes 10 Three lanes 

<'5 W est Arterial ~t) Four lanes 

,5 Commuter Rail .I[) River crossing 

5 Express bus /5 Spot improvements 

PO ' Light rail /0 Transportation demand management 

10. Additional comments on your impressions and this process: 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
. ' 9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to get yo.ur' initial ~eactions to 'the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will 'be used to focus subsequent di$cussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. ' 

For each Decision Tree question, you have 10 points to allocate b~tween the choices'. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 1 0 and NO: 0." If you are uncertain l you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 anq NO 4." 

Decision Tree Questions 

Question YES NO Comments 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? '\0 ' 
Pages 13-15 

IB. If NO, should it be considered in 
combination with other improvements? \ U 

2A. Will Commuter Rail, by itself, satisfy the I 
Problem, Vision and Values Statement? ') 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? ,S ' 

3. What type of overall transit imp'rovements YES NO 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

4. What type of overall road improvements YES NO , 
best satisfies the Problem, Vision and Values 

SA. 

5B. 

Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type( s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

YES NO 

• New 4-lane supplemental bridge for /' 
express bus, HOV, and Hayden Island J... 

Access Page 27 0 ', 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access \0 

Page 28 

• New supplemental bridge for LRT only .c 
Page 29 ...J 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 \0 

, I 

" . 



5B. 
cont. 

6A. 

6B. 

8. 

Transportation and Trade 

Partnership 
If yes, what type(s) of river crossing best YES 
satisfy the Problem, Vision and Values 
Statement? 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 

• New 10-lane replacement bridge Page 34 

• New I O-Iane replacement bridge with 
separate LRT bridge Page 36 

• New 1 O-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tunnel concept 
Page 38 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the ·5 Problem, Vision and Values Statement? 

If NO, should they be considered in 
combination with other improvements? 

YES 
tis d 

ues Statement? 
den 1-5 to 3 lanes between the Fremont 

/V' Bridge and 1-84 (Rose Quarter Area) \\) 
P 12 

• Widen 1-5 to 3 lanes between Delta Park 
and Lombard \0 

P 11 

• Add on and off ramps at Columbia Blvd. 
Page 23 ~ 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno -'\.. 

new river crossing is selected) " 
24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 500 ~ 

25 
• Northbound HOV in Clark County 

Page 26 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

NO 

\\) 

\0 

,\0 

\() 

\\J 

No 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5~ments contributing a different value, you might score "40, 
25,20,10,5" with "0 "/or the rest.): ~-

10 Land use policy changes · W Three lanes 

West Arterial Four lanes 

Commuter Rail \0 River crossing 

'6D ~ ExpreSSbUS)-r~ ~ /coJJ 20 Spot improvements 

Light rail f)Je (J{\(t ~tt(/V' '0 Transportation demand management 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
9/25/01 " ' 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choices. 'EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6, and NO 4." 

Decision Tree Questions 

Question YES NO Comments 

lAo 

IB. 

2A. 

2B. 

Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

If NO, should it be considered 'in 
combination with other improvements? 

Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

If NO, should it be considered in 
combination with other improvements? 

D' (D 

010 
, 

11.,23," 
3. What type of overall transit improvements YES NO 

best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

. • Express Bus . ~~ 4' 
• Light Rail 

to V 
4. What type of overall road improvements YES NO 

best satisfies the Problem, Vision and Values 

SA. 

5B. 

Statement? Pq.ges 20-26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

(0 o 

, 

10 0 
' YES NO · 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island . / 

Access Page 2 7 ~ 
• New 4-lane supplemental bridge for LRT, 

HOV, and Hayden Island Access 
Page 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 

/0 o 
o 10 

0' {O 

,~ . 

,. 

.. 

i'· ~ 
," .... 

. " 

\ 



'. 

Transportation and Trade 

Partnership 
5B. If yes, what type( s) of river crossing best . YES NO 
cont. satisfy the Problem, Vision and Values 

Statement? 

6A. 

6B. 

7A. 

8. 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 . (p 4: 

• New la-lane replacement bridge Page 34 

() to 
• New la-lane replacement bridge with 

separate LRT bridge Page 36 & 
• New la-lane replacement bridge with 

joint-use LRT Page 37 

• New supplemental tunnel concept 

o 1f) 

Page 38 0 10 
Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

If NO, should they be considered in 
combination with other improvements? 

Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
Values Statement? 

• 

o 10 

'1.'0 
YES NO 

Bridge and 1-84 (Rose Quarter Area) /0 0 
' 12 ., 

• Widen 1-5 to 3 lanes between Delta Park 
and Lombard 

P 11 
• Add on and off ramps at Columbia Blvd. 

Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no 

new river crossing is selected) 
P · 24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 500 

25 
• Northbound HOV in Clark County 

Page 26 

Will doing nothing more than baseline 
satisfy the Problem j Vision and Values 
Statement? 8-12 

o 
3 

7 

o 
.0 ',0 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the wbole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assig1l "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
2 5, 20, 10, 5 " with "0" for the rest.) : 

I \) Land use policy changes 2D Three lanes 
-~--'----

o West Arterial o Four lanes 
---- -----

D Commuter Rail - ---=-
g5"" River crossing - ---===""-----

o Express bus 
--- -

~. ____ J~ Spot Improvements 

27) Light rail {D Transportation demand management 
-----

10. Additional comments on your impressions and this process: ' 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
9125/01 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. . . , 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression l;lS "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note ~'YES 6 and NO 4." , 

Decision Tree Questions 

Question YES NO Comments 

IA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? _ '0 \ '0 
Pages 13-15 

- , ~ '"Le ,0 t-' 
W-~ ' V-il.~i""', ~t\\...\SI'-"'~('v:c;'~ OV'l 

\\~ c..C\'t.\'L. ~ 

IB. If NO, should it be considered in 
combination with other improvements? 'b ·, L-\-

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

v~{ I...,.) t--'\,;.\\-n!:;\.. ... { ,0 -:S0LV'C F\'~161+\-

OlD, - 0 f2.- COl.;"""'''; -.J ,!XL.. C brUC .J'\/ 0 v-- \ 'i'-i ~ 0(\.. .. 1., \ 

2B. If NO, should it be considered in 
combination with other improvements? o 

3. What type of overall transit improvements YES NO , 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus [) 

lo 
• Light Rail 

Ib, O 
4. What type of overall road improvements YES NO 

best satisfies the Prpblem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

\0 ·0 

• Add a 4 Lane 

5 5 
SA. Will we need a new river crossing to satisfy 

the Problem, Vision and Values Statement? to 0 

5B. If yes, what type(s) of river crossing best YES NO . 
satisfy the Problem, Vision and Values ", 

Statement? 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 0 )~ Access Page 27 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access 5 S-

Page 28 

• New supplemental bridge for LRT only 
Page 29 b \0 

• Supplemental 6-lane bridg~ Page 30 
0 fa 

• New supplemental 6-lane bridge with 1 3 separate LRT bridge Page 32 
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Transportation and Trade 

Partnership 
SB. If yes, what type(s) of rive.' crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

6A. 

6B. 

7A. 

• 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 

New la-lane replacement bridge Page 34 

• New la-lane replacement bridge with 
separate LRT bridge Page 36 

• New la-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tUlmel concept 
Page 38 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

If NO, should they be considered in 
combination with other improvements? 

Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
Values Statement? 
• 'W-id~rn:l:'S=t0:=3:~1rureS::Oef'we~1'l:.the.:l3.]:emeBt 

o '0 
() 10 

'2 2-

5 G 

l1- i~1 .. , . 

D ·, \0 

7f ::, 

YES NO 

/" Bridge and 1-84 (Rose Quarter Area) '0.' -0 
P 12 

8. 

• Widen I-S to 3 lanes between Delta Park 
and Lombard 

11 
\D · 0 

• Add on and 0[[ ramps at Columbia Blvd. 
Page 23 7 s 

• Relocate Hayden Island Interchange to ' 
Marine Dr. Interchange (valid only ifno 

new river crossing is selected) 
24 

s 
• Modify I-S interchanges in Vancouver 

between SR 14 and SR sao '10 
25 

.. 0 

• Northbound HOV in Clark County 
Page 26 5' S 

Will doing nothing more than baseline' 
satisfy the Problem, Vision and Values 
Statement? 8-J 2 

o \0 

(c:t->~~,-,o-,INtr 0'-'" 
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T-'--u-
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9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall apprO'aeh, llnd·the:·relative 'contribution of indiyidual elements to 
the whole . . (Exanijiles - If y;~ 'be'iieve'iill wllr~-;~t;rb~t~' ~q'~;;lljiglve"e'ach' ]'O patn!; ~ if );ou-beTiev~ 'one 'Or more elements will not be part 
of the solution, 'assigll "0" points. If you believe the plan should include 5· elements contributing a different value, you might score "40, 
25, 20, 10, 5 " with "0" for the rest.) : 

Land use policy changes a~ Three lanes 

West Arterial Four lanes -

Commuter Rail 50 River crossing 

Express bus .5- Spot improvements 

cO Light rail 5 -- Transportation demand management 

10. Additional comments on your impressions and this process: 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SUR·VEY 
9/25/01 

" 

This is an ANONYMOUS, NON-BINDING survey designed to get your /nitial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be us~d to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate betWeen the choices: EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES : 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." 

Decision Tree Questions 

Question YES NO Comments 

lA. 

lB . 

2A. 

2B. 

Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

If NO, should it be considered in 
combination with other improvements? 

Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

If NO, should it be considered in 
combination with other improvements? 

o · I~ , 

D )0 

3. What type of overall transit improvements YES NO · 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

4. What type of overall road improvements YES ; NO 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 
.8'" 2 ' 

SA. Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? I () () 

5B. If yes, what tyPe(s) of river crossing best YES NO 
satisfy the Problem, Vision and Values 
Statement? 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 

Access Page 27 

• New 4-lane supplemental bridge for LRT, 

3 

HOV, and Hayden Island Access 0; 
Page 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

• New supplemental6-lane bridge with 

J'D 

o I(J 

separate LRT bridge Page 32 2 i 

( . 
, '"j 

,;\ 

' . . ' 

" 

" . 
. 



Transportation and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-lane bridge with 
Joint-use LRi Page 33 

• New 1 O-lane replacement bridge Page 34 

• New I O-lane replacement bridge with 

YES NO 

, 

3 7 

separate LRT bridge Page 36 0 /1) 

• New 10-lane replacement bridge with 
joint-use LRT Page 37 0 IlJ 

• New supplemental tUlmel concept 
Page 38 / D t7 

6A. Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 

0 /0 
Problem, Vision and Values Statement? 

6B. IfNO, should they be considered in 
combination with other improvements? 

2 <r 
7A. Which of the problem spot improvements YES NO 

do we need to satisfy the Problem, Vision and 
Values Statement? 

• Widen I 5 to ;, lanes between the Fremont 

J .-t. ~ ~ r.,..b'Brrdge and 1-84 (Rose Quarter Area) . /0 ' 0 
12 

• Widen 1-5 to 3 lanes between Delta Park 
and Lombard /D ' V 

P 11 

• Add on and off ramps at Columbia Blvd . 
Page 23 ' 7 S 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno 

5 5> new river crossing is selected) ( 

24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 506 /L7 0 25 

• Northbound HOV in Clark County 
Page 26 ~ ?/ 

8. Will doing nothing more than baseline 
satisfy the Problem, Vision and Values D /'D 
Statement? 8-12 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each IOpoints. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan shouid include 5 elements contributing a different value, you might score "40, 
25, 20,10,5"with ,"0 " jortherest.): 

Land use policy change~ 

West Arterial 

Commuter Rail 

S,> Express bus 

12, Light rail 

10. Additional comments on your impressions and this process: 

I w ou lel llt! .. y 

fX y! "Cels. ~ #1-<- rlv~1-" 
. 

avoss/~ • 

Three lanes 

;;< 0 Four lanes 

3,b River crossing 

} ~ Spot improvements 

5 Transportation demand management 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
9/25/01 

o 

This is an ANONYMOUS, NON-BINDING survey designed to'get your initial reactions to:the specijic'design efe",nents in the option packages 
and some of the other issues facing the Task Force. The results will be used to foc~s subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0," If you are uncertain, you might note "YES: 5 
NO: 5," If you favor YES, but it's a close call, you might.note "YES 6 and NO 4." ~ 

Decision Tree Questions 

Question YES 'NO Comments 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Stat~ment? 
Pages 13-15 

IB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

/0 

3. What type of o'verall transit improvements YES NO_ 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

4 I 
4. What type of overall road improvements YES NO 

best satisfies the Problem, Vision and Values 

SA. 

SB. 

Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 

Access Page 27 ' 

• New 4-lane supplemental bridge for LRT, 

q I 
I 

<:t' L 

10 ' \) 
, YES' NO 

1 
HOV, and Hayden Island Access . ,t 'J,/ 

Page 28 " 

• New supplemental bridge for LRT only 
Page 29 / V, 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 I D 

. " 

" . 

, " 

I 
, , 



Transportation and Trade 

Partnership 
5B, If yes, what type(s) of river crossing best YES NO 
cont. satisfy the Problem, Vision and Values 

Statement? 

6A. 

6B, 

7A. 

8, 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 <& t 

• New la-lane replacement bridge Page 34 

• 

• 

New la-lane replacement bridge with 
separate LRT bridge Page 36 

New la-lane replacement bridge with 
joint-use LRT Page 37 

) 
• New supplemental tunnel concept 

P&Zge 38 L...( ~ 

Will policy actiorts such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

If NO, should they be consi in 
combination with other improvements? 

Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
Values Statement? 

,..widen I 5 to 3 IllnSi> between the 
I.-t..-~ Bridge and 1-84 (Rose Quarter Area) I Q 

12 

, , 

to 

o 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombatd 
11 

, o , 0 
,J • 

• Add on and off ramps at Columbia Blvd, 
Page 23 , 't) U 

• Relocate Hayden Islartd Interchange 'to 
Marine Dr. Interchange (valid only ifno 

new river crossing is selected) 
P 24 

• Modify I-5 interchanges in Vancouver 
between SR 14 and SR 500 

25 
• Northbound HOV in Clark County 

Page}6 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

I D 

9, Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
2 5, 20. 10, 5" with "0" for the rest.): 

" 

S Land use policy changes I J Three lanes 

5' West Arterial 10 Four lanes 

it} Commuter Rail I tl River crossing 

10 Express bus tY Spot improvements 

'l 0 Light rail {~ Transportation demand management 

10. Additional comments on your impressions and this process: 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SU~VEY , 
9125/01 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions t9 (he specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be f,lsed to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choice,s. EXAMPLES : 'If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO; 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." 

Decision Tree Questions 

Question YES NO Comments 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

IB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in , 
combination with other improvements? 

3. What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

(!) to 

0 /0 

6 10 

.ff iliJ ' 
YES 

10 o 
4. What type of overall road improvements YES NO 

best satisfies the Problem, Vision and Values 

5A. 

5B. 

Statement? Pages.20~26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

tf /; 

/rJ 

ID , (!) . 

YES NO 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island (J> 19 

Access Page 27 

• New 4-lane supplemental bridge for LRT,' 
HOV, and Hayden Island Access 

Page 28 o 
• New supplemental bridge for LRT only 

Page29 l) l~ 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 f(J ,/l) 

't· 1 

I ' ,. 

~ 91..") 50. tu 
.~ 3LAJ J~\Jy.t" 

, , 

-



Transportation and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-1ane bridge with 

. ES NO 

' )(0 ' CD 

joint-use LRT Page 33 CD r C) 

• New la-lane replacement bridge Page 34 

0 /'0 
• New la-lane replacement btidge with () ,0 separate LRT bridge Page 36 

• New la-lane replacement bridge with 
joint-use LRT Page 37 10 () 

• New supplemental tunnel concept 
Page 38 IV b 

6A. Will policy actions such as land use, 10 
taxation and TDM, alone, satisfy the 0 16 Problem, Vision and Values Statement? / , 

6B . If NO, should they be considered in 
combination with other improvements? J :3 

7A. Which of the problem spot improvements . YES NO 
do we need to satisfy the Problem, Vision and 
Values Statement? 

• WiSi§i I 5 to J Iftf\8e between the Fremont 
Bridge and 1-84 (Rose Quarter Area) I(J 0 

12 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard to 
11 

• Add on and off ramps at Columbia Blvd . 
Page 23 /(!; b 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno ·If 'b new river crossing is selected) 

24 
• Modify 1-5 interchanges in Vancouver 

between SR 14 and SR 500 g z,. 
25 

• Northbound HOV in Clark County 
Pdge 26 2' & 

8. Will doing nothing more than baseline 
satisfy the Problem, Vision and Values () 10 
Statement? 8-12 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the ,overall approach," and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points, If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25, 20. 10, 5" with "0" for the rest.): 

0 Land use policy changes g: Three lanes /" 

rJ West Arterial ,..6 Four lanes /" 

(jJ Commuter Rail 35' River crossing /' 

cJ Express bus /" '/0 Spot improvements .-

~( Light rail/' cY Transportation demand management 

10. Additional comments on your impressions and this process: 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to g"et your initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have lO points to allocate between the choices. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: lO and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." , 

Decision Tree Questions 

Question 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

iB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

3. What type of overall transit improvements 
best satisfies the Problem, Vision and Values ' 
Statement? Pages 17-19 

4. 

SA. 

5B. 

• Express Bus 

• Light Rail 

What type of overall road improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes , 

, . Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• 

• New 4-lane supplemental bridge for . 
express bus, HOV, and Hayden Island 

Access Page 27 

New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access 

Page 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 

YES NO Comments 

~ ~ 

\~ G 

0 \0 

~ 0 
YES NO 

YES NO 
I 

to ~ 

D' ('0 

YES NO 

c; 5 
5;" ~., 

, , ' 

<, 

~
! ' 

• , { 
, <, ~, 

" 

; , 

" 



Portland I Vancouver / 

1-5 .. 

Transportation and Trade 
, . Partnership 

5B. If yes, what type(s) of rive.' crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 

• New 1 O-lane replacement bridge Page 34 

YES NO 

o (0 
• New 1 O-lane replacement bridge with \ n 

separate LRT bridge Page 36 G V 

6A. 

6B. 

7A. 

8. 

• New 10-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tunnel concept 
Page 38 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

If NO, should they be considered in 
combination with other improvements? 

Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
Values Statement? 

Wid6-n-1::.~.3-Janes lbetweeh the Fremont 

J Bridge and 1-84 (Rose Quarter Area) 
V' Pi2 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard 
11 

• Add on and off ramps at Columbia Blvd. ' 
Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno ' 

new river crossing is selected) 
24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 500 

25 
• Northbound HOV in Clark County 

Page 26 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

(0 Q 
YES NO 

I ( . 
lrt' 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the g'eneral composition of the overall approach, and the relative contribution of individual elements to 
the whole, (Examples - If you believe all will contribute equally give each i 0 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25,20,10,5" with "0 "for the rest.): 

\~ Land use policy changes t.g Three lanes 

:z-® West Arterial a Four lanes 
D , 

U Commuter Rail ;W River crossing 

1 c? Express bus \D Spot improvements -
~.[ ~ Light rail 

~,\, ~ . , " ' ., !; , 
' '.',;1 Transportation demand management 

10. Additional comments on your impressions and this process: 

2 


